
TEXT SIX questions 

 

 

Vocabulary : fill in the summary of the text with the following words. HANG UP, FREEZE, 

DISCLOSURE, LEAVE OUT, PASS THE BUCK. Make sure to conjugate the verbs. 

Brick told Big Daddy about Skipper’s death, but the old man suspected that his son 

__________________________ something __________. Brick then confessed that before 

killing himself, Skipper had called him on the phone, but Brick _______________________ 

on him. Big Daddy understands why Skipper died and puts the blame on Brick, who wanted to 

_____________________________________ instead of assuming his responsibilities. Brick 

says that facing the truth is hard to do, and with a slip of the tongue suggests that his father is 

going to die. The ______________________ is a shock to Big Daddy, whereas his son remains 

_____________________ and embarrassed. 

 

 

English Grammar. Verbs of movement + particle. 

Translate into English : 

1. Maggie sortit de la pièce sur la pointe des pieds. 

2. Brick traversa le salon en titubant. 

3. Brick essaya de s’enfuir en voiture. 

4. Dans sa jeunesse, Big Daddy était parti en Afrique en avion. 

5. Avant de devenir un planteur, Big Daddy avait parcouru le pays comme un vagabond. 

 


